


2.

x?+y? 4+ 2ax—4ay+4a® 4+ 2a—4 = 0°] YEIU+= 25| 4 WA
t’?

@ 2n @ 3n @ 4n @ b5n ® 6r






4. xFT A1, 0)olA HshaAM yFoll SAl Hste 9] Wels A4

1 _ _ -
y= ot b7k OISR U, 652 GO M ke Fow?

@ 2 @ -3 @ 4 @ -5 ® 6



2
O x*+y*=4
@ x*+y*-4x=0

2
® x*+y?—4y=0

2
@ x> +y>+4x=0

2
@ x*+y*+4y=0



T2+ -2x-2y+1=0, x> +y?-8x+6y+ k=07t A=
] wf A k o gh2?

D k=-11 @ k=0 ® k=9
@ k=16 ® k=8



7. xX>4+y?—4x=0, ¥>+y?-6x-2y+8 =0 9 HS A= Y9
REREPEY

‘/_

® V5 @75 @% @® V2 @?



A4 a, b o F 9

A:(x—a)+(-b?=a*+b*>+1,
B:(x—1)2+(y-1)2=1°] g5l

YA 7Y B O EHUE olFwEotHA AF W, a, b Ato] o] A4
=7

D a+b=-1 @ a+b=1

@ a-b=0 @ a®>+b2=1

® (a-14+(b-1)*=1



Fod=t.

IS

o B A58 7

3x—-4y4+6=0

4y —2x4+4y+1=0,

M



10. #HEPHAAM H (2,-3) = FHe= St A 3x +4y-9 =0
otz 9ol Wol=?

@ 4n @ 6n @ 8n @ 9n ® 127



11. A4y = x+47F L 22 +y? = 9] oJsiA Z1 o] Lol E Fsfofzt.

D R
=%



12, 9 (x+2)+ (y-1)> =10 $19] A (-3, 4) o42] AL FHA o]
y=mx+n <o, 3m+n 2 g F5HH?

D L
=



A4 3x—y—1 =0 o BHSI A 2 + 32 = 10 of) ke G4

2]
AAS y =mx+n o2kl & ), mn 9] G127

@ 310 @ -3+10 ® 30
10
@ -30 ® 0



e Fofofel,

9y



15.

A0, a)ollA D x?+(y-3)2=8 12 F
o, G aQ] 2 ?

@ 3 @ 5 ®7 @9

® 10



16. e +y*-8y-9=0 %2 A PIA A4 3x -4y - 24 =0 7H#] 9
Ae o] #gghe?

@ 2 @ 3 ® 4 @ 5 ® 6



17.

)

f1o] & 3 A(8,0) , B(0,6) ll thsto] 4213 OAB < 9|3
Aol X +y* +ax+by+c =02 W, Al &4 a,b,c o &

2 Tstelat. (&, 0 & 97)



18. #HEHW 91 £ (3, 3), (12, 12) B A7 x 52|
Mol 910 o o] x HBE 9
@

@ 6 ® @ 6+2

| W
DO | Ot

®

2| 5



19.

A P(a,0)914 Y (x-3)2+ (y-2)2 = 4] 1-& FA] Zo|7}4Y
o, J p o] EE BT FohH?

® (1,0), (7,0) @ (-1,0), (7,0) ® (1,0), (-7,0)
@ (-1,0), (5,0) ® (1,0), (-5,0)



20.

U gy? = D T y= O o TnA e BE DY) 5

EEa, b, c.,d B2 W, dabed O 7S F5tod2t

B

i



